


= =
: T =
| -
-
, NI o© |
_
—_— - —u
. L
4 L« - -
B 7 T *
= L L —
= o
LN Lo
= To)
-
—
—
~ﬂl_ ~7_/|\
n n
- N M < W ~

AaNMSE 1O



_ —+v k No=

vo raddo n n

IN

4/22,8/18,12/24, 3/24

8 4

koitre2 4L -

12

8

1

8 2

8

3




Ne [1— 3
t o+ 3
n — - 3
< —
521, 1 7123
8/29, 10/12 13, — T™R6.1/26
5/11, 5/21, 6/24,
4 ™K. oVvel) 9/711/88 4 Mg p
) % F 1) 12/13, R6.2/22
4 4 Ne™a. i R63/155 # 8
1
gfi 4D < — - = ™M= L > 3
- i
( < ==) 4
2.
+_ il"":!O‘-!KBRESlfiv!KB 8
8 — 8fdiop> % 4 %4 ©
7 29 LA
1 1l ®@aph 35 &
VA | # 8 )P OWD i 8- p.
, ®*D ) O21—
> L
= fi 260 —
- ~H v
N F ° Fas> ol
Joz2—- - 12 ram™ Loy
40 Ff= 8
3.
14 Nz g 20 40 kdoitrez o L s
3 8 8% 4 - Ppel Ao
< - 4 8 2 8 L g L Ay
8 gfi 403 < — < < < — 9




< L Y k>i tre 2
8 -8 8 kdi tpre@2 8 L ™= 13 30
+- 15,000 — L Jir<s%n -
£ Y0 Yol V 8 —
9 - - © F2= L eV o oAl L T
#8 2% 4 VA
44 Ne™ ;to 12 8 r~ 45 %
<0 | 8 - Hdk
7 4 30
4 5
Ll - t' - tl
L R R | 5 15 8 18
+ o9 16 % 9
<y tace o'+ 5 27
W fiva s o 8 W' fiws = oDl
- L4 1 53 . Ep) — L 5p0eok ey — 8
L ’ ’ = — Ne 8 & 11
- 9 ° IF4
. 12 9
— | 12 12 ¢ wmfih i «fi® —Vv E
L - : B 6 1
) Y Ao, :)! ||-=| <7 4 — 4
. _ T 2
5.
n — 8 —Nef v L [y
+ n d 1 Yo 5 9 19
n - 8 — 100 9
| 1 s 2 8
S_
2 SQI=TM‘I|
n 6 6 -r =




) 4 8 4 ,9 15 10 13
n Ri.o2id v
12 8
n < 9 2 8 21 , 6 1 10 )
n 10 18
n 11 2
n {4dvoranoer vIr dd ot
— AL 1vs B Liwls < < o= IV
6.
| 3 6 = | % ~4 1 2 |
kdi tr»e 4 i = %V % [ 1432 1  #NJ V
L_—3%3 <af V¥
k>itre 8 — ,
= |H t- 4
— <11 11 25 -—
LI > 2 118
T Fa n
5 19
o= — { —
kd>itre2 — 12 10 ,4A5 qdo0=,25
4 4 - +- — | V% - - o=
6 3 15 ) | < —
koitre V: wml WO ) — 8 @
L PR— =
7.
T e— n n 1 s L
w=fi 2D £ B vor |[>D @es K. - < _
'8 n n/ — 8 55 D ed % ||fz8 =|=|3/8\/|"I n
g fi 24D, nz - n — ) 4n 4n w!oo o
1o+ 4- °oe 7
o>y ell b — +




4 10 4110 30 -2

Lowds AV E-

9

0>y ONef[— <-— SERUER 6/3 < 11/16 < — Lo
Lkoyitre2 # 6/13 < 11/16 — 2 # 55
- 714
1 7/9 5 - < 1L
tF8 Nt[— <— 8/3 9/6 1 Rem/9 — o - = ™=
6 8 g fi 4D < =V o
< 9/3 n 50
"2 50D 10/13 - =
B R + R& 1/27
8 RéY 2/22
028 11 8 8 8




) J
1IRA D EB 4f 6% 3B 318 (BAr: [m)
] H SEEFE | 5 FERTE # R (] %

= B 2,553,000 2,492,500 -60500
BHhoB 365,000 360,000 -5000
INRIRRBEERRT 65,000 70,000 5000
IINRIEEZEFT LS 300,000 290,000 -10000
FINA 1,289,000 1,325,107 36107
[REREEER A L 190,000 198,782 8782
kTS 280,000 317,688 37688
HRIRERE 250,000 130,900 -119100
~rEERB LS GBI 51,000 51,400 400
HRE R EBR(TE 13,000 11,130 -1870

AFBIEA 20,000 63,392 43392 |4 =¥ bELEED
SBHIERYER 10,000 0 -10000
EREUE RS 120,000 110,300 -9700
B BREERY 60,000 65,515 5515
CHEREER#BSE 80,000 80,000 0
Lz mBh KX KB & 30,000 60,000 30000
WEWEY O VEBE 15,000 15,000 0
BB hBEEE 100,000 200,000 100000
T2 % v Fbox#EBIE 50,000 0 -50000
AHE B =ERKS 20,000 21,000 1000
F OB 82 50 -32
L RTT 65 30 -35
BER ik, 20 3
EIEGEES 2 2,623,727 2,623,727 0
Gl g 6,830,809 6,801,384 -29425

-2t 6,264,797

3A31H X =% 536,587 BERES 362,501

(RipgES) iR S 174,086

&t 536,587







